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QUESTION 1

This exam also requires you to answer questions in one of three specialty areas :either 1) High Availability. 2)
Networking and Security, or 3) Virtualization

You may only choose one of these areas for this exam. Which specialty area do you choose?
A. High Availability

B. Networking and Security

C. Virtualization

Correct Answer: A

QUESTION 2

A customer manages several applications within a single OS and wants to define policies to manage the allocation of
CPU, memory, and disk bandwidth per application.

What can the customer use?
A. Virtual Machine Manager

B. HP-UX Scheduler

C. Global Workload Manager
D. Process Resource Manager

Correct Answer: B

QUESTION 3

A volume group is the sixth LVM2-2 volume group on a server The device tiles for the 3rd LV in this VG have
accidentally been deleted Previous VGs have been created with the default numbering scheme. When using the mkrnod
command string to recreate these fries, what would be the correct major/minor number pair?

A. 64 0x050003

B. 64 0x005003

C. 128 0x050003

D. 128 0x005003

Correct Answer: D
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QUESTION 4

You need to create a five node Serviceguard cluster.

Which arbitration method must be selected for this configuration?
A. Lock LUN

B. Physical Disk

C. Quorum Server

D. Cluster Lock Disk

Correct Answer: A

QUESTION 5

What does a high number of Voluntary Context Switches for a process indicate?
A. The process has been removed and returned to the run queue by the scheduler
B. The "nice" value associated with the process has frequently changed

C. The process has regularly been deactivated by the swapper

D. The process has gone to sleep a number of times

Correct Answer: D
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